Challenge!
1. 32,458 — 18,750 = 13,708 — Digit at hundreds place is 7

2. (a) Greatest possible number = 97531
(b) 7000 — 7 = 6993
Worksheet
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Chapter 3: Multiplication
Warm-up

Total cost = 8 x T65 + 10 X T25 + 16 x T45 +20 x T8 +2 x T378 + 14 x X155

= %520 + T250 + %720 +3360 +3756 +32170 = T4776 <X5000. Yes, amount is enough.




(1ass work (Page 50)

2 X (3 ~ 1()) — (2 5 ,; )
" 1478 # 1= 1478 A;) “ 10 Associative property of multiplicati
(b) o,y Property of | i siiflicas y of multiplication
3x11=3x(10+1 gh stioh

(c) ) Multiplication distribution over addition

(a) 379=27 (b) 6x§-

) 12%4=48  (g) 5,4,_;? ©) 8x9=72 (dy 11x3=33 (e) 9x6=54

(k) 19x6=114 ) 16x9. bty 107270 () 178=136 () 15x9=135
144 (m) 18x4=72 (n) 1979=171 (o) 20x8=160
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3% 10=130

1.
2. 7% 100 =700 3. 8% 1000 = 8,000

4. 673 ¥ 100 = 67,300
1.

5. 807 #1000 = 8,07,000 6. 396 % 10,000 = 39,60,000

000 * 100 = 90,000 8. 29 %2 % 1000 = 58.000

9. 496 % 20 = (496 % 2) x 10 =992 x 10 = 9,92
0. 503 % 30=(503 x 3) x (10) = 1509 x 10 = 15,090

gxercise 3A

1. (a) 242+2=3x%x2

2 (a) 2%4=4+4=8

[T S

(b) 3+3+3+3=4%3
(d 7+7+7=3x7
(b) 4x2=2+2+2+2=8

() 1+1+1+1+1=5x]

() 3x5=5+5+5=15 (d) 6x8=8+8+8+8+8+8=48
(@) 6x4=4x%6 (b) 15x27=27x15
(@ 27x0=0 (b) 2317 x 1=2317

. (a) T, (2% 4)x5=2x(4x5) Grouping property

(b) T,3x 15=15 x3 Order property
(c) T,5815 x1=5815 Property of 1 in multiplication
(d) T,44x15=44x(10+5) Distributive property

6. 2x(4+3)=2x7=14 Distributive property of over multiplication on addition
7. (a) 40 x 80 =(4 x 8) x 100 = 3,200 (b) 600 x 300 = 1,80,000
(c) 170 x 300 =51,000 (d) 1200 x 90 = 1,08,000
8. Total distance jogged =20 x 90 = 1800 km
9.(a) 4x6>8x2 (b) 9x5<8x%6
(c) 1x7>0x%8 (d 7+8=5x%3
10. (b) 11. (b)
Challenge!

(b) Muffins in 1 box = 12.

Total number of muffins in 8 boxes = 8 X 12=96

Muffins left =5
Muffins eaten by her friends = 96 -5=91
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1. 6 1 59 2. 79 6 75 3. 3 5 8
x4 x_9 = 5.0
2463 6 717075 2 1 48
+2 5 06
2 7 2 0 8
Exercise 3B
1.(a) 1 8 3 8§ by 75 9 8 (ch 50009 (d 58799
x 4 x 13 % 8 8
7382 2279 4 4007 2 4703902
(c) 3 4 (f) 708 (g 2059 (h 8795
x 5 x 2 9 x 7 6 X 6 4
1725 6 37 2 12354 35180
F 1725 + 1416 + 1 4413 +5 2770
1 8975 20532 1 56 48 4 5 62880
2. (a) Awake in each day =15 h 366
Awake in (1 leap year = 366 days) = 5490 hours ﬁ
+3 6 6
2 490
(b) Cost of one ticket = Z35 6 11
' _ I ¥
Numberofmen 215 30 5
Number of women = 396 +1 8 3 3
Total number of men and women =215 + 396 = 611 2 13 835
Total money collected = ¥35 x 611 =%21,385

3. Number of students = 35,718 3571 8
Pocket money for 1 student = 325 T8 )5( g ?)
Total amount collected = 35,718 x 25 +7 1 4 3 6
=%8,92,950; Compassion 8 92 9 5 0

4. (b) {425 x 35 days (7 x 5 =35 days) =%14,875}
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1. 7 6 3 2. 8 7 2 3. 9 0 7 4, 5430
x 5 9 4  x 893 x 6 7 3 % T 65
305 2 L2 616 2721 2 7150
6 8 6 7 7 8 4 8 6 3 409 32580

+3 8 1 3 +6 9 7 6 +5 4 4 2 +5 4 30

4 532 2 2 77 8 6 9 6 6 1 041 1 8 9 5950




